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III.  6 × 3 = 18 

 33. 
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IV.  2 × 3 = 6 

 39. 
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V.   1 × 4 = 4 
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VI.   1 × 4 = 4 
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VII.  2 × 4 = 8 

 43.  

  

 

 

 

 

 
 
 

 
 
 

 

 

4 

 
 



 CCE PR 11 06-H  

 PR(D)-50002  [ Turn over 

1888 

 

 

 

 

 

 

 

 

4 

 44.  

 

 

 

 

 

 

 

 

4 

 

 

 

 

 

 

 

4 



06-H  12 CCE PR 

 PR(D)-50002  

VIII.    

 45.  

  

 

 

 

 

 

 

4 

 "B"

20  

IX. 10 × 1 = 10 

 46.  
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X. 4 × 1 = 4 

 56. 
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 58. 
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 59. 
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XI.  3 
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XIII.  2 × 1
1

2
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 62. (a) − 

(b) −
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XIV.   1 × 5 = 5 
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XV.  1 × 5 = 5 

 64.   

i) 

ii)  

iii) 
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(ii) 1

(iii) 1
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